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#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

1 NS: @30F ZIc#t(GHo) 14 1 1 NS: #F 5 BREE(BAC) -7 16.23 : 3.77 Total VP: 101.46 Rank:
EW: BEEISZ FREIEAC) 7 EW: BB STRMM(BRO) -1 IMP:| 35 16 6
I
# 17 a A52 3NN4 430 Mean: 5CN5 400 7.0 1 [[#18 a9 4SW-150 Mean: 5SXW-2 300 9.0 2
v K5 4HS-1-50 120  3NN4 430 7.0 2 v AT853 5DS-2 -200 -90  4SXW-1 100 50 1
«» K872 Dif: 480 NS:7 3NN3 400 7.0 2 ¢ 32 Dif: 250 NS:4 4SW-1 50 40 5
& AKQ6 IMP: 10 EW:5 3SS4 170 2.0 1 & KQ432 IMP: 6 EW:3 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 170 Mean: 4SN5 450 50 1 ||# 20 » A853 4HN4 620 Mean: 4HN5 650 6.0 2
v AJ 4SN4 420 260  4SN4 420 40 4 v 87542 4HN4 620 430  4SN4 620 50 1
¢ 543 Dif: -250 NS:-3 3SN5 200 20 2 +A Dif: 0 NS:5 4HN4 620 50 8
& AQ IMP: -6 EW:-4 3SN4 170 3.0 6 & AT2 IMP: 0 EW:-5 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 _I_ v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3CS4 130 Mean: 3NS5 660 100 4 ||# 22 » J83 3SW-1100 Mean: 4SW-3 300 80 1
v Q7 3NS-3-300 230 3SE-3 150 2.0 1 v AJ7653 5HXN-2 -300 -30  4SW-2 200 6.0 1
+ KT53 Dif: 430 NS:-3 1NN3 150 20 2 *3 Dif: 400 NS:4 3NW-2 200 6.0 1
» KT83 IMP: 10 EW:11 3DN4 130 -3.0 1 » J85 IMP: 9 EW:7 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1-100 Mean: 5HXW-2 500 100 1 ||# 24 » 86 5DN5 400 Mean: 4SXW-3 500 5.0 2
v QJ62 4HXE-1 200 20 6HE-2 200 50 1 v T95 4SXW-3 500 300 3NS5 460 4.0 2
*4 Dif: -300 NS:-3 5HE-2 200 50 1 + AKQJ65 Dif: -100 NS:3 5DN5 400 3.0 1
& 9862 IMP: -7 EW:-5 4HXE-1 200 50 1 & J4 IMP: -3 EW:-5 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~
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#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

2 NS: Z$EE EHFI(BEO) -7 1 3 NS: S51E = (EAC) 8 6.22 13.78 | Total VP: 101.63 Rank:
EW: M BUE S5EEEAC) -8 EW: EEM L/IEBIO) 7 IMP:| 13 23 5
I -
# 17 & A52 3SS4 170 Mean: 5CN5 400 70 1 # 18 a9 4SW4 -420 Mean: 5SXW-2 300 9.0 2
v K5 3NN3 400 120 3NN4 430 7.0 2 v AT853 5SXW-2300 -90  4SXW-1 100 50 1
«» K872 Dif: -230 NS:2 3NN3 400 7.0 2 ¢ 32 Dif: -720 NS:-8 4SW-1 50 40 5
& AKQ6 IMP: -6 EW:-7 3SS4 170 2.0 1 & KQ432 IMP: -12 EW:-9 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & 1952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 170 Mean: 4SN5 450 50 1 ||# 20 » A853 4SN4 620 Mean: 4HN5 650 6.0 2
v AJ 3SN4 170 260  4SN4 420 40 4 v 87542 4HN4 620 430  4SN4 620 50 1
¢ 543 Dif: 0 NS:-3 3SN5 200 20 2 +A Dif: 0 NS:5 4HN4 620 50 8
& AQ IMP: 0 EW:3 3SN4 170 3.0 6 & AT2 IMP: 0 EW:-5 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 + v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3CS4 130 Mean: 3NS5 660 100 4 ||# 22 » J83 2SW2 -110 Mean: 4SW-3 300 80 1
v Q7 1NN2120 230  3SE-3 150 2.0 1 v AJ7653 3SW-1100 -30  4SW-2 200 6.0 1
+ KT53 Dif: 10 NS:-3 1NN3 150 20 2 *3 Dif: -210 NS:-2 3NW-2 200 6.0 1
» KT83 IMP: 0 EW:3 3DN4 130 -3.0 1 » J85 IMP: -5 EW:-4 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4HE-1100 Mean: 5HXW-2 500 10.0 1 ||# 24 » 86 4SXW-2 300 Mean: 4SXW-3 500 50 2
v QJ62 4SS-1-100 20 6HE-2 200 50 1 v T95 6DN-1-50 300 3NS5 460 4.0 2
*4 Dif: 200 NS:2 5HE-2 200 50 1 + AKQJ65 Dif: 350 NS:0 5DN5 400 3.0 1
& 9862 IMP: 5 EW:3 4HXE-1 200 50 1 & J4 IMP: 8 EW:8 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~
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#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

3 NS: PhgER &822(5H0) -14 6 NS: ki BREZ(BAC) 2 6.55 13.45| Total VP: 109.77 Rank:
EW: HhELNE TRIEREAC) -2 EW: FRZZ%T #iEXAR(BAO) 14 IMP:| 31 40 4
I -
# 17 o A52 3NN4 430 Mean: 5CN5 400 7.0 1 |[#18 9 5HXN-2 -500 Mean: 5SXW-2 300 9.0 2
v K5 3NN-1-50 120 3NN4 430 7.0 2 v AT853 4SW-150 -90  4SXW-1 100 50 1
+ K872 Dif: 480 NS:7 3NN3 400 7.0 2 ¢ 32 Dif: -550 NS:-9 4SW-1 50 40 5
& AKQ6 IMP: 10 EW:5 3SS4 170 2.0 1 & KQ432 IMP: -11 EW:-4 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 170 Mean: 4SN5 450 50 1 ||# 20 » A853 6HS-2 -200 Mean: 4HN5 650 6.0 2
v AJ 4SN4 420 260  4SN4 420 40 4 v 87542 4HN4 620 430  4SN4 620 50 1
¢ 543 Dif: -250 NS:-3 3SN5 200 20 2 +A Dif: -820 NS:-12 4HN4 620 50 8
& AQ IMP: -6 EW:-4 3SN4 170 3.0 6 & AT2 IMP: -13 EW:-5 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 _I_ v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NS5 660 Mean: 3NS5 660 100 4 ||# 22 » J83 3SW4 -170 Mean: 4SW-3 300 80 1
v Q7 3SE-3150 230 3SE-3 150 2.0 1 v AJ7653 4SW4 -620 -30  4SW-2 200 6.0 1
+ KT53 Dif: 510 NS:10 1NN3 150 20 2 *3 Dif: 450 NS:-4 3NW-2 200 6.0 1
» KT83 IMP: 11 EW:2 3DN4 130 -3.0 1 » J85 IMP: 10 EW:11 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 25W2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
* Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1-100 Mean: 5HXW-2 500 100 1 ||# 24 » 86 4SXW-2 300 Mean: 4SXW-3 500 50 2
v QJ62 3883140 20 6HE-2 200 50 1 v T95 3NS5460 300 3NS5 460 4.0 2
*4 Dif: -240 NS:-3 5HE-2 200 50 1 + AKQJ65 Dif: -160 NS:0 5DN5 400 3.0 1
& 9862 IMP: -6 EW:-3 4HXE-1 200 50 1 & J4 IMP: -4 EW:-4 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~
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#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

4 NS: sH#E EF&EGH0) 0 1 4 NS: BREEZ BIEEE(BAC) 9 6.55 13.45| Total VP: 77.20 Rank:
EW: &L BEBEEAC) -9 EW: 5HE Z5E(B0) 0 IMP:| 20 29 13
I -
# 17 o A52 3NN-2 -100 Mean: 5CN5 400 7.0 1 |[#18 9 4SW4 -420 Mean: 5SXW-2 300 9.0 2
v K5 3NN-1-50 120 3NN4 430 7.0 2 v AT853 4SW-150 -90  4SXW-1 100 50 1
+ K872 Dif: -50 NS:-6 3NN3 400 7.0 2 ¢ 32 Dif: -470 NS:-8 4SW-1 50 40 5
& AKQ6 IMP: -2 EW:5 3SS4 170 2.0 1 & KQ432 IMP: -10 EW:-4 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & 1952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 4SN4 420 Mean: 4SN5 450 50 1 ||# 20 » A853 4HN5 650 Mean: 4HN5 650 6.0 2
v AJ 4SN5450 260  4SN4 420 40 4 v 87542 4HN4 620 430  4SN4 620 50 1
¢ 543 Dif: -30 NS:4 3SN5 200 20 2 +A Dif: 30 NS:6 4HN4 620 50 8
& AQ IMP: -1 EW:-5 3SN4 170 3.0 6 & AT2 IMP: 1 EW:-5 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 + v6 4SS-4 -400 -13.0 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 1NN3 150 Mean: 3NS5 660 100 4 ||# 22 » J83 2SW2 -110 Mean: 4SW-3 300 80 1
v Q7 3NS5660 230 3SE-3 150 2.0 1 v AJ7653 4SW-1100 -30  4SW-2 200 6.0 1
+ KT53 Dif: -510 NS:-2 1NN3 150 20 2 *3 Dif: -210 NS:-2 3NW-2 200 6.0 1
» KT83 IMP: -11 EW:-10 3DN4 130 -3.0 1 » J85 IMP: -5 EW:-4 4SW-1 100 40 2
a4 AT75 & KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W ~~~~~ W 22~2-~
# 23 # AK53 6HE-2 200 Mean: 5HXW-2 500 100 1 ||# 24 » 86 4HS4 420 Mean: 4SXW-3 500 50 2
v QJ62 4SXS-1-200 20 6HE-2 200 50 1 v T95 6HS-1-50 300 3NS5 460 4.0 2
*4 Dif: 400 NS:5 5HE-2 200 50 1 + AKQJ65 Dif: 470 NS:3 5DN5 400 3.0 1
& 9862 IMP: 9 EW:6 4HXE-1 200 50 1 & J4 IMP: 10 EW:8 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~
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#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

5 NS: &8 BREF(BHO) -36 8 NS: #imE EEE(EAC) 14 0.00 20.00 | Total VP: 82.02 Rank:
EW: BEEE9: 12 {21&EHC) -14 EW: #iliE FRIE£E(FO) 36 IMP:| 0 49 1
I
# 17 a A52 4HN-1 -50 Mean: 5CN5 400 7.0 1 [[#18 a9 6HN-3 -300 Mean: 5SXW-2 300 9.0 2
v K5 3NN-1-50 120 3NN4 430 7.0 2 v AT853 4SW-150 -90  4SXW-1 100 50 1
«» K872 Dif: 0 NS:-5 3NN3 400 7.0 2 ¢ 32 Dif: -350 NS:-5 4SW-1 50 40 5
& AKQ6 IMP: 0 EW:5 3SS4 170 2.0 1 & KQ432 IMP: -8 EW:-4 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 2SN4 170 Mean: 4SN5 450 50 1 ||# 20 » A853 4SS-4 -400 Mean: 4HN5 650 6.0 2
v AJ 3SN5200 260 4SN4 420 40 4 v 87542 6HN-2 -200 430  4SN4 620 50 1
¢ 543 Dif: -30 NS:-3 3SN5 200 20 2 +A Dif: -200 NS:-13 4HN4 620 50 8
& AQ IMP: -1 EW:2 3SN4 170 3.0 6 & AT2 IMP: -5 EW:12 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 _I_ v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 1NN2 120 Mean: 3NS5 660 100 4 ||# 22 » J83 2SW4 -170 Mean: 4SW-3 300 80 1
v Q7 3NS5660 230 3SE-3 150 2.0 1 v AJ7653 4SW-1100 -30  4SW-2 200 6.0 1
+ KT53 Dif: -540 NS:-3 1NN3 150 20 2 *3 Dif: -270 NS:-4 3NW-2 200 6.0 1
» KT83 IMP: -11 EW:-10 3DN4 130 -3.0 1 » J85 IMP: -7 EW:-4 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1-100 Mean: 5HXW-2 500 100 1 ||# 24 » 86 4SXW-2 300 Mean: 4SXW-3 500 50 2
v QJ62 5HXW-2 500 20 6HE-2 200 50 1 v T95 4SXW-3 500 300 3NS5 460 4.0 2
*4 Dif: -600 NS:-3 5HE-2 200 50 1 + AKQJ65 Dif: -200 NS:0 5DN5 400 3.0 1
& 9862 IMP: -12 EW:-10 4HXE-1 200 50 1 & J4 IMP: -5 EW:-5 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~
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#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

6 NS: & 7kAE BRESZ(EHC) 2 3 NS: KB LR Z(BO) -14 13.45 : 6.55 Total VP: 78.64 Rank:
EW: BEZEHT SHERHABEO) 14 EW: M EE sRi2iZE(BAC) -2 IMP:| 40 31 12
I -
# 17 o A52 3NN4 -430 Mean: 5CN5 400 7.0 1 |[#18 9 5HXN-2 500 Mean: 5SXW-2 300 9.0 2
v K5 3NN-150 120 3NN4 430 7.0 2 v AT853 4SW-1-50 -90  4SXW-1 100 50 1
«» K872 Dif: -480 NS:-5 3NN3 400 7.0 2 ¢ 32 Dif: 550 NS:4 4SW-1 50 40 5
& AKQ6 IMP: -10 EW:-7 3SS4 170 2.0 1 & KQ432 IMP: 11 EW:9 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 -170 Mean: 4SN5 450 50 1 ||# 20 » A853 6HS-2 200 Mean: 4HN5 650 6.0 2
v AJ 4SN4 -420 260  4SN4 420 40 4 v 87542 4HN4 -620 430  4SN4 620 50 1
¢ 543 Dif: 250 NS:4 3SN5 200 20 2 +A Dif: 820 NS:5 4HN4 620 50 8
& AQ IMP: 6 EW:3 3SN4 170 3.0 6 & AT2 IMP: 13 EW:12 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 _I_ v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NS5 -660 Mean: 3NS5 660 100 4 ||# 22 » J83 3SW4 170 Mean: 4SW-3 300 80 1
v Q7 3SE-3 -150 230  3SE-3 150 2.0 1 v AJ7653 4SW4 620 -30  4SW-2 200 6.0 1
+ KT53 Dif: -510 NS:-2 1NN3 150 20 2 *3 Dif: -450 NS:-11 3NW-2 200 6.0 1
» KT83 IMP: -11 EW:-10 3DN4 130 -3.0 1 » J85 IMP: -10 EW:4 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1100 Mean: 5HXW-2 500 100 1 ||# 24 » 86 4SXW-2 -300 Mean: 4SXW-3 500 50 2
v QJ62 38S3-140 20 6HE-2 200 50 1 v T95 3NS5 -460 300 3NS5 460 4.0 2
*4 Dif: 240 NS:3 5HE-2 200 50 1 + AKQJ65 Dif: 160 NS:4 5DN5 400 3.0 1
& 9862 IMP: 6 EW:3 4HXE-1 200 50 1 & J4 IMP: 4 EW:0 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 F 4 >2FMHBERF R

2 ==> RI10

10

#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

7 NS: F=2EE{— BESE$EGHO) -13 1 O NS: BRI REE(EAC) 1 5.32 14.68 | Total VP: 91.68 Rank:
EW: S3EiE B2 EAC) -1 EW: 2553 It E(BJO) 13 IMP:| 3 16 10
I -
# 17 a A52 3NN-1-50 Mean: 5CN5 400 7.0 1 [[#18 a9 4SW4 -420 Mean: 5SXW-2 300 9.0 2
v K5 3NN-1-50 120 3NN4 430 7.0 2 v AT853 4SW-150 -90  4SXW-1 100 50 1
«» K872 Dif: 0 NS:-5 3NN3 400 7.0 2 ¢ 32 Dif: -470 NS:-8 4SW-1 50 40 5
& AKQ6 IMP: 0 EW:5 3SS4 170 2.0 1 & KQ432 IMP: -10 EW:-4 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 170 Mean: 4SN5 450 50 1 ||# 20 » A853 4HN4 620 Mean: 4HN5 650 6.0 2
v AJ 3SN4 170 260  4SN4 420 40 4 v 87542 4HN4 620 430  4SN4 620 50 1
¢ 543 Dif: 0 NS:-3 3SN5 200 20 2 +A Dif: 0 NS:5 4HN4 620 50 8
& AQ IMP: 0 EW:3 3SN4 170 3.0 6 & AT2 IMP: 0 EW:-5 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 + v6 4SS-4 -400 -13.0 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NN-1-100 Mean: 3NS5 660 100 4 ||# 22 » J83 4SW-2 200 Mean: 4SW-3 300 80 1
v Q7 3DN4 130 230  3SE-3 150 2.0 1 v AJ7653 3NW-2200 -30 4SW-2 200 6.0 1
+ KT53 Dif: -230 NS:-8 1NN3 150 20 2 *3 Dif: 0 NS:6 3NW-2 200 6.0 1
» KT83 IMP: -6 EW:3 3DN4 130 -3.0 1 » J85 IMP: 0 EW:-6 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1-100 Mean: 5HXW-2 500 100 1 ||# 24 » 86 4HS4 420 Mean: 4SXW-3 500 50 2
v QJ62 4SS-1-100 20  6HE-2 200 50 1 v T95 4SXW-2 300 300 3NS5 460 4.0 2
*4 Dif: 0 NS:-3 5HE-2 200 50 1 + AKQJ65 Dif: 120 NS:3 5DN5 400 3.0 1
& 9862 IMP: 0 EW:3 4HXE-1 200 50 1 & J4 IMP: 3 EW:0 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 F 4 >2FMHBERF R

2 ==> RI10

10

#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

8 NS: #SE EEEFC) 14 5 NS: (2528 BB (FO) -3¢ P:[20.00 : 0.00 [ Total VP:|  100.42 Rank:
EW: i3l BRIE£E(BEO) 36 EW: B2 % B2IE(EIC) 1 IMP:| 49 : 0 7
I
# 17 a A52 4HN-1 50 Mean: 5CN5 400 7.0 1 [[#18 a9 6HN-3 300 Mean: 5SXW-2 300 9.0 2
v K5 3NN-150 120 3NN4 430 7.0 2 v AT853 4SW-1-50 -90  4SXW-1 100 50 1
+ K872 Dif: 0 NS:-5 3NN3 400 7.0 2 ¢ 32 Dif: 350 NS:4 4SW-1 50 40 5
& AKQ6 IMP: 0 EW:5 3SS4 170 2.0 1 & KQ432 IMP: 8 EW:5 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4swa 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 -9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢AJ972 N 343~~ vyKaz
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ » T952 E ~~~32 &J7
W ~~-~~~ W ~~~32
# 19 a T87543 2SN4 -170 Mean: 4SN5 450 50 1 ||# 20 » A853 4SS-4 400 Mean: 4HN5 650 6.0 2
v AJ 3SN5-200 260 4SN4 420 40 4 v 87542 6HN-2 200 430 4SN4 620 50 1
¢ 543 Dif: 30 NS:-2 3SN5 200 20 2 ¢ A Dif: 200 NS:-12 4HN4 620 50 8
& AQ IMP: 1 EW:3 3SN4 170 3.0 6 & AT2 IMP: 5 EW:13 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 _|_ v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 1NN2 -120 Mean: 3NS5 660 100 4 ||# 22 » J83 2SW4 170 Mean: 4SW-3 300 80 1
v Q7 3NS5 -660 230  3SE-3 150 2.0 1 v AJ7653 4SW-1-100 -30  4SW-2 200 6.0 1
+ KT53 Dif: 540 NS:10 1NN3 150 20 2 *3 Dif: 270 NS:4 3NW-2 200 6.0 1
» KT83 IMP: 11 EW:3 3DN4 130 -3.0 1 » J85 IMP: 7 EW:4 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 -3.0 2 ||a AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 25W2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT + KJ964 3SW4 470 40 2
* Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44~~2 9KT4 N ~~3~~ v Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1100 Mean: 5HXW-2 500 100 1 ||# 24 » 86 4SXW-2 -300 Mean: 4SXW-3 500 50 2
v QJ62 5HXW-2 -500 20 6HE-2 200 50 1 v T95 4SXW-3 -500 300 3NS5 460 4.0 2
*4 Dif: 600 NS:10 5HE-2 200 50 1 + AKQJ65 Dif: 200 NS:5 5DN5 400 3.0 1
& 9862 IMP: 12 EW:3  4HXE-1 200 50 1 & J4 IMP: 5 EW:0 4HS4 420 3.0 2
a4 » 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
B¢V ABN o QIT762 ¢VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 F 4 >2FMHBERF R

2 ==> RI10

10

#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

9 NS: ¥izkz BEEIEGHO0) 19 1 2 NS: #B{E3E FER(EAC) 29 5.91 14.09| Total VP: 58.66 Rank:
EW: BE#ES 255 B (EAC) -29 EW: ZZ8EB 2I3%¥K(BRO) -1 IMP:| 21 32 14
I
# 17 o A52 3NN3 400 Mean: 5CN5 400 7.0 1 |[#18 9 4SXW-1 100 Mean: 5SXW-2 300 9.0 2
v K5 5CN5400 120 3NN4 430 7.0 2 v AT853 5SXW-2300 -90  4SXW-1 100 50 1
«» K872 Dif: 0 NS:7 3NN3 400 7.0 2 ¢ 32 Dif: -200 NS:5 4SW-1 50 40 5
& AKQ6 IMP: 0 EW:-7 3SS4 170 2.0 1 & KQ432 IMP: -5 EW:-9 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN5 200 Mean: 4SN5 450 50 1 ||# 20 » A853 4HN5 650 Mean: 4HN5 650 6.0 2
v AJ 4SN4 420 260  4SN4 420 40 4 v 87542 4HN4 620 430  4SN4 620 50 1
¢ 543 Dif: -220 NS:-2 3SN5 200 20 2 +A Dif: 30 NS:6 4HN4 620 50 8
& AQ IMP: -6 EW:-4 3SN4 170 3.0 6 & AT2 IMP: 1 EW:-5 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 _I_ v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NS5 660 Mean: 3NS5 660 100 4 ||# 22 » J83 3SW4 -170 Mean: 4SW-3 300 80 1
v Q7 1NN3 150 230  3SE-3 150 2.0 1 v AJ7653 4SW-3300 -30  4SW-2 200 6.0 1
+ KT53 Dif: 510 NS:10 1NN3 150 20 2 *3 Dif: -470 NS:-4 3NW-2 200 6.0 1
» KT83 IMP: 11 EW:2 3DN4 130 -3.0 1 » J85 IMP: -10 EW:-8 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 5HE-2 200 Mean: 5HXW-2 500 100 1 ||# 24 » 86 5HS-1-50 Mean: 4SXW-3 500 50 2
v QJ62 4SXS-1-200 20 6HE-2 200 50 1 v T95 3NS5460 300 3NS5 460 4.0 2
*4 Dif: 400 NS:5 5HE-2 200 50 1 + AKQJ65 Dif: -510 NS:-8 5DN5 400 3.0 1
& 9862 IMP: 9 EW:6 4HXE-1 200 50 1 & J4 IMP: -11 EW:-4 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~
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#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

1 O NS: B REZEEIC) 1 7 NS: EE{" BREHE(BAO) -13 14.68 : 5.32 Total VP: 124.13 Rank:
EW: R854 o[ ZE(BHO) 13 EW: Rt BRHEE(BAC) 1 IMP:| 16 : 3 3
I
# 17 a A52 3NN-1 50 Mean: 5CN5 400 7.0 1 [[#18 a9 4SW4 420 Mean: 5SXW-2 300 9.0 2
v K5 3NN-150 120 3NN4 430 7.0 2 v AT853 4SW-1-50 -90  4SXW-1 100 50 1
«» K872 Dif: 0 NS:-5 3NN3 400 7.0 2 ¢ 32 Dif: 470 NS:4 4SW-1 50 40 5
& AKQ6 IMP: 0 EW:5 3SS4 170 2.0 1 & KQ432 IMP: 10 EW:8 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & 1952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 -170 Mean: 4SN5 450 50 1 ||# 20 » A853 4HN4 -620 Mean: 4HN5 650 6.0 2
v AJ 3SN4 170 260  4SN4 420 40 4 v 87542 4HN4 -620 430  4SN4 620 50 1
¢ 543 Dif: 0 NS:-3 3SN5 200 20 2 +A Dif: 0 NS:5 4HN4 620 50 8
& AQ IMP: 0 EW:3 3SN4 170 3.0 6 & AT2 IMP: 0 EW:-5 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 _I_ v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NN-1 100 Mean: 3NS5 660 100 4 ||# 22 » J83 4SW-2 -200 Mean: 4SW-3 300 80 1
v Q7 3DN4 -130 230  3SE-3 150 2.0 1 v AJ7653 3NW-2 -200 -30  4SW-2 200 6.0 1
+ KT53 Dif: 230 NS:-3 1NN3 150 20 2 *3 Dif: 0 NS:6 3NW-2 200 6.0 1
» KT83 IMP: 6 EW:8 3DN4 130 -3.0 1 » J85 IMP: 0 EW:-6 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1100 Mean: 5HXW-2 500 100 1 ||# 24 » 86 4HS4 -420 Mean: 4SXW-3 500 50 2
v QJ62 4SS-1100 20  6HE-2 200 50 1 v T95 4SXW-2 -300 300 3NS5 460 4.0 2
*4 Dif: 0 NS:-3 5HE-2 200 50 1 + AKQJ65 Dif: -120 NS:0 5DN5 400 3.0 1
& 9862 IMP: 0 EW:3 4HXE-1 200 50 1 & J4 IMP: -3 EW:-3 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 F 4 >2FMHBERF R
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#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

1 1 NS: #FHE BESEEAC) -7 1 NS: Z30&E 8I3#e(BA0) 14| 3.77 16.23 | Total VP: 139.73 Rank:
EW: M=% JTTIEE0) -14 EW: [REIZ E2E(BAC) 7 IMP:| 16 35 2
I -
# 17 a A52 3NN4 -430 Mean: 5CN5 400 7.0 1 [[#18 a9 4SW-1-50 Mean: 5SXW-2 300 9.0 2
v K5 4HS-150 120 3NN4 430 7.0 2 v AT853 5DS-2200 -90  4SXW-1 100 50 1
«» K872 Dif: -480 NS:-5 3NN3 400 7.0 2 ¢ 32 Dif: -250 NS:-3 4SW-1 50 40 5
& AKQ6 IMP: -10 EW:-7 3SS4 170 2.0 1 & KQ432 IMP: -6 EW:-4 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 vAJI72 N 343~~ vKaQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ » T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 -170 Mean: 4SN5 450 50 1 ||# 20 » A853 4HN4 -620 Mean: 4HN5 650 6.0 2
v AJ 4SN4 -420 260  4SN4 420 40 4 v 87542 4HN4 -620 430  4SN4 620 50 1
¢ 543 Dif: 250 NS:4 3SN5 200 20 2 +A Dif: 0 NS:5 4HN4 620 50 8
& AQ IMP: 6 EW:3 3SN4 170 3.0 6 & AT2 IMP: 0 EW:-5 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 _I_ v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3CS4 -130 Mean: 3NS5 660 100 4 ||# 22 » J83 3SW-1-100 Mean: 4SW-3 300 80 1
v Q7 3NS-3300 230 3SE-3 150 2.0 1 v AJ7653 5HXN-2 300 -30  4SW-2 200 6.0 1
+ KT53 Dif: -430 NS:-11 1NN3 150 20 2 *3 Dif: -400 NS:-7 3NW-2 200 6.0 1
» KT83 IMP: -10 EW:3 3DN4 130 -3.0 1 » J85 IMP: -9 EW:-4 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1100 Mean: 5HXW-2 500 100 1 ||# 24 » 86 5DN5 -400 Mean: 4SXW-3 500 50 2
v QJ62 4HXE-1-200 20 6HE-2 200 50 1 v T95 4SXW-3 -500 300 3NS5 460 4.0 2
*4 Dif: 300 NS:5 5HE-2 200 50 1 + AKQJ65 Dif: 100 NS:5 5DN5 400 3.0 1
& 9862 IMP: 7 EW:3 4HXE-1 200 50 1 & J4 IMP: 3 EW:-3 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 F 4 >2FMHBERF R

2 ==> RI10

10

#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

1 2 NS: f3{EE #FEEEAC) 29 9 NS: Bk = EARNBE(BHO) 19 14.09 : 5.91 Total VP: 94.33 Rank:
EW: ZEREIR BRE/KEFHO) -19 EW: R#R 2L E(BAC) -2 IMP:| 32 21 9
I
# 17 o A52 3NN3 -400 Mean: 5CN5 400 7.0 1 |[#18 9 4SXW-1 -100 Mean: 5SXW-2 300 9.0 2
v K5 5CN5-400 120  3NN4 430 7.0 2 v AT853 5SXW-2 -300 -90  4SXW-1 100 50 1
«» K872 Dif: 0 NS:7 3NN3 400 7.0 2 ¢ 32 Dif: 200 NS:9 4SW-1 50 40 5
& AKQ6 IMP: 0 EW:-7 3SS4 170 2.0 1 & KQ432 IMP: 5 EW:-5 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN5 -200 Mean: 4SN5 450 50 1 ||# 20 » A853 4HN5 -650 Mean: 4HN5 650 6.0 2
v AJ 4SN4 -420 260  4SN4 420 40 4 v 87542 4HN4 -620 430  4SN4 620 50 1
¢ 543 Dif: 220 NS:4 3SN5 200 20 2 +A Dif: -30 NS:5 4HN4 620 50 8
& AQ IMP: 6 EW:2 3SN4 170 3.0 6 & AT2 IMP: -1 EW:-6 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 _I_ v 6 48S-4 400 130 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NS5 -660 Mean: 3NS5 660 100 4 ||# 22 » J83 3SW4 170 Mean: 4SW-3 300 80 1
v Q7 1NN3 -150 230  3SE-3 150 2.0 1 v AJ7653 4SW-3 -300 -30  4SW-2 200 6.0 1
+ KT53 Dif: -510 NS:-2 1NN3 150 20 2 *3 Dif: 470 NS:8 3NW-2 200 6.0 1
» KT83 IMP: -11 EW:-10 3DN4 130 -3.0 1 » J85 IMP: 10 EW:4 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 5HE-2 -200 Mean: 5HXW-2 500 10.0 1 ||# 24 » 86 5HS-150 Mean: 4SXW-3 500 50 2
v QJ62 4SXS-1200 20 6HE-2 200 50 1 v T95 3NS5 -460 300 3NS5 460 4.0 2
*4 Dif: -400 NS:-6 5HE-2 200 50 1 + AKQJ65 Dif: 510 NS:4 5DN5 400 3.0 1
& 9862 IMP: -9 EW:-5 4HXE-1 200 50 1 & J4 IMP: 11 EW:8 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 F 4 >2FMHBERF R

2 ==> RI10

10

#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

1 3 NS: E=EE EHEZEAC) 8 2 NS: Z=§E58 ST A(BAO) -7 13.78 : 6.22 Total VP: 144.50 Rank:
EW: E&H 2kJ51EEE0) 7 EW: Ep & S EA(BAC) -8 IMP:| 23 13 1
I
# 17 o A52 3SS4 -170 Mean: 5CN5 400 7.0 1 |[#18 9 4SW4 420 Mean: 5SXW-2 300 9.0 2
v K5 3NN3 -400 120  3NN4 430 7.0 2 v AT853 5SXW-2 -300 -90  4SXW-1 100 50 1
«» K872 Dif: 230 NS:7 3NN3 400 7.0 2 ¢ 32 Dif: 720 NS:9 4SW-1 50 40 5
& AKQ6 IMP: 6 EW:-2 3SS4 170 2.0 1 & KQ432 IMP: 12 EW:8 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 -170 Mean: 4SN5 450 50 1 ||# 20 » A853 4SN4 -620 Mean: 4HN5 650 6.0 2
v AJ 3SN4 170 260  4SN4 420 40 4 v 87542 4HN4 -620 430  4SN4 620 50 1
¢ 543 Dif: 0 NS:-3 3SN5 200 20 2 +A Dif: 0 NS:5 4HN4 620 50 8
& AQ IMP: 0 EW:3 3SN4 170 3.0 6 & AT2 IMP: 0 EW:-5 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 + v6 4SS-4 -400 -13.0 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3CS4 -130 Mean: 3NS5 660 100 4 ||# 22 » J83 2SW2 110 Mean: 4SW-3 300 80 1
v Q7 1NN2 -120 230  3SE-3 150 2.0 1 v AJ7653 3SW-1-100 -30  4SW-2 200 6.0 1
+ KT53 Dif: 10 NS:-3 1NN3 150 20 2 *3 Dif: 210 NS:4 3NW-2 200 6.0 1
» KT83 IMP: 0 EW:3 3DN4 130 -3.0 1 » J85 IMP: 5 EW:2 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4HE-1-100 Mean: 5HXW-2 500 10.0 1 ||# 24 » 86 4SXW-2 -300 Mean: 4SXW-3 500 50 2
v QJ62 4S8S-1100 20 6HE-2 200 50 1 v T95 6DN-150 300 3NS5 460 4.0 2
*4 Dif: -200 NS:-3 5HE-2 200 50 1 + AKQJ65 Dif: -350 NS:-8 5DN5 400 3.0 1
& 9862 IMP: -5 EW:-2 4HXE-1 200 50 1 & J4 IMP: -8 EW:0 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~
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#1: 13 JHH144.5) #2: 11 ,u\,m\2§(139 73) #3: 10 iF35k(124.13)

1 4 NS: B2z EEREEC) 9 4 NS: tp#EE E2(E(H0) 0 13.45 : 6.55 Total VP: 95.83 Rank:
EW: BN =EZ=EEI0) 0 EW: MER BHBIR(EAC) -9 IMP:| 29 20 8
I
# 17 o A52 3NN-2 100 Mean: 5CN5 400 7.0 1 |[#18 9 4SW4 420 Mean: 5SXW-2 300 9.0 2
v K5 3NN-150 120 3NN4 430 7.0 2 v AT853 4SW-1-50 -90  4SXW-1 100 50 1
«» K872 Dif: 50 NS:-5 3NN3 400 7.0 2 ¢ 32 Dif: 470 NS:4 4SW-1 50 40 5
& AKQ6 IMP: 2 EW:6 3SS4 170 2.0 1 & KQ432 IMP: 10 EW:8 5DS-2 200 -3.0 1
» J873 » Q964 4HS-1 50 50 1 ||a AKJT653 # 8742 6HN-3 300 -5.0 1
v Q8 v T643 4HN-1 50 50 1 ||e 64 I v J92 4SW4 420 -80 3
¢ QJT643 *A 3NN-1 50 50 5 ||eT + AQ6 5HXN-2  -500 9.0 1
* 4 » J873 3NN-2 100 -60 1 ||a AT5 » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 4SN4 -420 Mean: 4SN5 450 50 1 ||# 20 » A853 4HN5 -650 Mean: 4HN5 650 6.0 2
v AJ 4SN5 -450 260  4SN4 420 40 4 v 87542 4HN4 -620 430  4SN4 620 50 1
¢ 543 Dif: 30 NS:5 3SN5 200 20 2 +A Dif: -30 NS:5 4HN4 620 50 8
& AQ IMP: 1 EW:-4 3SN4 170 3.0 6 & AT2 IMP: -1 EW:-6 6HS-2 200 -120 1
a9 ~ K2 2SN4 170 3.0 1 ||a Q a JT72 6HN-2 200 120 1
v T532 v KQ64 v K93 + v6 4SS-4 -400 -13.0 1
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 & 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 1NN3 -150 Mean: 3NS5 660 100 4 ||# 22 » J83 2SW2 110 Mean: 4SW-3 300 80 1
v Q7 3NS5-660 230  3SE-3 150 2.0 1 v AJ7653 4SW-1-100 -30  4SW-2 200 6.0 1
+ KT53 Dif: 510 NS:10 1NN3 150 20 2 *3 Dif: 210 NS:4 3NW-2 200 6.0 1
» KT83 IMP: 11 EW:2 3DN4 130 -3.0 1 » J85 IMP: 5 EW:2 4SW-1 100 40 2
a4 AT75 » KJ63 3cs4 130 3.0 2 |[|s AQ542 & KT6 3SW-1 100 40 2
v J986 v A532 1NN2 120 3.0 2 ||e K2 — v T4 2SW2 110 20 2
¢ 642 ¢ J98 3NN-1 100 -80 1 QT * KJ964 3SW4 470 40 2
% Q2 » 54 3NS-3 =300 -11.0 1 | |& Q632 » KT9 25W4 170 40 1
P OVAN 4,94 P OVABN 497 5HXN-2  -300 -7.0 1
N 44 ~~2 vKT4 N ~~3~~ »Q98 4swa 620 -11.0 1
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 6HE-2 -200 Mean: 5HXW-2 500 10.0 1 ||# 24 » 86 4HS4 -420 Mean: 4SXW-3 500 5.0 2
v QJ62 4SXS-1200 20 6HE-2 200 50 1 v T95 6HS-150 300 3NS5 460 4.0 2
*4 Dif: -400 NS:-6 5HE-2 200 50 1 + AKQJ65 Dif: -470 NS:-8 5DN5 400 3.0 1
& 9862 IMP: -9 EW:-5 4HXE-1 200 50 1 & J4 IMP: -10 EW:-3 4HS4 420 3.0 2
a4 ~ 98 38S3 140 3.0 1 ||a QJ942 a AT75 4SXW-2 300 0.0 4
v KT4 + v A9753 4HE-1 100 20 1 ||e A7 v 862 6HS-1 50 8.0 1
¢ QJ73 + K9852 4851 100 -30 6 ||eT ¢ 9743 6DN-1 50 8.0 1
& AKT74 S aQ 4SXS-1 200 6.0 2 ||a T7653 » Q2 5HS-1 50 8.0 1
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




